Week 3
MATH 34A
TA.: Jerry Luo

jerryluo8@math.ucsb.edu
Office Hours: Wednesdays 1:30-2:30PM, South Hall 6431X

Given that there’s a midterm this coming Friday based on the material from homeworks
142, I decided to compile some of the harder and less done questions from these homeworks.
In this packet, there are two question from eselssf-homework 1 and three from homework 2.
Here’s how today’s going to work. As usual, I will devote the first thirty minutes to letting
you guys have a crack at these questions. Afterwards, I will present some of these problems.
The main difference between today’s section and the other sections we've had is that I will
not be coming around to help, and there will be no collaboration. The intent of this is to
simulate the conditions of an exam (where there will be neither collaboration allowed nor TAs
walking you through problems). One thing I want to say is that, I DO NOT CLAIM THIS
WILL BE SIMILAR IN ANY WAY, SHAPE, OR FORM, TO THE ACTUAL
MIDTERM. In particular, I do not have any part in writing the midterm, nor did the
professor have any part in the creation/compilation of this worksheet.



1.46 Differentiate y = 1/ + 1/z + /.
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1.5} Find an equation of the tangent line to the curve at the following point: y = z%¢~, (1,1/e)
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2.18 Find the following integrals.

(a) j;)z B dr
(b) J° 5%dz
(© [2,(6-10° + 2%)dz
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2.48 Consider the graph of the function g(z}):
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The graph from = = 2 to = 6 is a semicircle. Evaluate the following integrals by
interpreting them in terms of areas:
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2.53 Find [ f(z)de if
7 3 forz<3
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z forz>3.
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